UC Berkeley

College of Engineering

EECS Department 

EECS150







J. Wawrzynek

Spring 2002







Quiz #12

Name: _________________________Solution_________________________

SID: ____________________________________Lab section number: _____________

Draw the circuit diagram for an 8-stage linear feedback shift register (LFSR).  A table of primitive polynomials is included below:
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x2 + x +1


x3 + x +1


x4 + x +1


x5 + x2 +1


x6 + x +1





x7 + x3 +1


x8 + x4 + x3 + x2 +1


x9 + x4 +1


x10 + x3 +1


x11 + x2 +1
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